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>

el TUTEHHT 379eT ereat H I G|

(Examinee write answer in their own words as far as practicable.)
ol Tl ShT §T 19 B

(The total number of questions is 19)

9ReT 1 @ G2 7 Teh ATTorea{d WRe &1 o7 & fordl ol 92t & 3ei¢
3R IH T a1ag H ST Tl 92 T AT 1 37 TR &

(Question 1 to Question 7 are very short answer type questions. Answer
any five of these questions in at most one sentence. Each question carries

1 mark.)
9RaT 8 A TIReT 14 Teh STELIT YT ¢ | SoTi A fohergl 5 URaAl & 3e} 31t d
50 2reai H EITSTT| Yedeh 92T 1 Al 3 37k e 8

(Question 8 to Question 14 are short answer type questions. Answer any
five of these questions in at most 50 words. Each question carries 2
marks.)

U1 TEAT 15 { YT 19 Teh SIU3aT U § | 548 & faheal olieT waAt & 3a%
TSI 100 sl F EITAT| Tk YT &7 AT 5 37 [FeTRa &

(Question 15 to Question 19 are long answer type questions. Answer any
Three of these questions in at most 100 words. Each question carries 5
marks.)
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31'% Fl'lfl" 3?Iﬂ'€r 9 (Very Short Answer Type Questions)

SIS Sigs &1 8?2 (What is business risk?)

sicgea &1 87 (What is leadership ?)

faas ot e dicfas ufshar g2 (How is planning an intellectual Process?)
‘TSR & IRATVT Y| (Define ‘market’.)

3eAT Fr e arer § AT FT FASG & ? ( What do you mean by the

economic barrier of entrepreneur ?)

a K~ o=

6. O9R TIeg &1 §? (What is trademark?)
7. TYUYOT AT HIWT H gler Aiige? (What should be the language of

communication ?)

3|'§IJ' IR T T (Short Answer Type Questions)
8. THTAT HUWUT H 3Tl aTell fohegl ©: STT3T &l guled HIfaiw | (Explain any six

common barriers to effective communication.)

9. Peat IR &1 §? (What is retail market?)

10.ca1aATAS SAEH & AT dROT #47 § ? (What are human causes of
business risk?)

11§18 U9 ¢5HATS H &7 3K &2 (What is the difference between brand and
trademark ?)

12. 3619 aTReh TUYOT fhd @gd 82 (What is Informal communication?)

13.[A0ST & #Agecad W Figred fecault &1 (Give a brief note on the importance
of planning.)

14.3cFfAIT Sren3it fr Jrg & T als gdrd| (Mention any three methods to

examine the entrepreneurial barriers.)

& 398 92 (Long Answer Type Questions)
15.caaTde SNTEH o IRATVT HY| ATaATAe SATEH & PRI I SIrEAT

HIfST | (Define business risk. Discuss the reasons of business risk.)

Page 2 of 3



16.8Rca¥ # 3edfAar fasrd & Sga-ar 3 Fhad &1 &7 (What are the
various economic barriers to the development of entrepreneurship in India
?)

17.991%4 7 Acd & Hged T H&T H auleT Sifaiw| (Briefly explain the importance
of leadership in management.)

18.farae $r gRemsT SIfAT| 3§ 9T FT 3ETS FF FAT AT I=T g2 (Define
planning. Why is it considered a necessary function of management?)

19. 7@« td faf@d ¥R & #47 3R 82 51 et & & 39 fohqg &1 3 wvg
A ¢ 3R F? (What is the difference between verbal and written

communication? Which one you prefer and why?)
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